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PDO VAO Model Test-7 | Paper-1

1) T20 World Cup 2024 eﬁét% TSI we3nw (The Countries hosting T20
World Cup 2024)

a) India, Pakistan, Sri Lanka

b) West Indies, United States of America

¢) West Indies, United Kingdom

d) West Indies, USA, Canada

2) 8 IONT DOPAYD T WYNY WPOR WoTm IRFNY BReRoDY, alves
BReRO3D ZTO0IPNY? (Among the following pairs of Acts and the years in which

they were enacted, which pair is NOT correct?)

a) JTSecd: Wow o0& — 1860 (Indian Penal Code - 1860)

b) ¥TTHF TZOS® TS - 1898 (Criminal Procedure Code - 1898)

c) ZRTIECH mis QICHL — 1872 (Indian Evidence Act -1872)

d) FTFRT TOFT WTTIENY AOB0SFY ToWw — 2005 (Karnataka Control of
Organised Crimes Act, 2005)

3) OB WNTE OXFE 50:’%03: ROBRePS DY Isoe ToWND SRRYTE
BoworTedchZ=? (What are the research and investigation reports of
Hindenburg Research Institute related to?)

a) e echzel (Money Market)
b) wor=eY Tyechzef (Capital Market)



¢) SRFF wTTIENY (Economic Offences)

d) 33 5@eec (Corruption)

4) RT3T ST %wzgﬁ TOWORAT B3 IPNT oI5 Tewdosn TOCNY (Which
of the following statements regarding the administrative system of India is
NOT correct?)

a) TRRNYY TOHTOOT GOl T m&%gmﬂtﬁ:@d’ (In states the Governor
is the head of the respective state)

b) 2T FeomeEe THBNFY SRoLr MEFTT WKt WOF wnay TN T
(Five union territories are headed by Lieutenant Governor)

) SHRTY ORIV TRe3NTY @%&é)@&v OTH WOF T oINS (In
three Union Territories, the Administrator is the head of the territory)

d) @@é@é)@&c"‘ N IAS @5 IPS Fe3R Feom=de ©NceS. (Administrators
belong to IAS or IPS service.)

5) Sezw3R mgd% T w2, (Hemareddy Mallamma was a,)
a) =w@smeds (Vachangarti)
b) =308 (Devotee of Shiva)
c) mﬁo;)é Becoodmeds (Freedom fighter)

d) BomerT ootd (Queen of the state)

6) TTTRTD @dt’% HTY TOHT TOWOR B3 IINT OI5T TewIolw TOCIPNY.
(Which of the following statements about Forest and Environment of

Karnataka is NOT correct?)



a) 5 W%COSJ mw%wwsnem (There are 5 National Parks)

b) 5 &O wexmen TWe3new (There are 5 Tiger Reserves)

¢) 30 [P WPsRTLYNTd T 15 TOTFER WeRD BRe3n9R (There are
30 Wildlife Sanctuaries and 15 Conservation Reserves)

d) 2 TR0 wemer IRe3NYR (There are 2 Community Reserves)

7) Angel Tax Q02x%®, (Angel Tax is,)
a) MUFT® NF S HRIT ¢S IonReend (Direct tax levied on startups)
b) MEFT® n¢ Ded MW Ideeg 0SNG (It is an indirect tax levied
on startups)
¢) TYWET® NIy, BReATD OPYNY TSTRF TEOR FORAINY e QP 8¢S
3one3ena (A direct tax levied on older companies that compete with
startups, to support startups)
d) MWFT® NFRY, BRATW YN FIFRE TEOD FOIINY e DRI
JSweeg Borodendd (It is an indirect tax levied on older companies to

support startups)

8) BharOS sxdetdon® 2T 80038 82 F9NT 030 Tewdodn TOoS®NY. (Which
of the following statements about BharOS operating system is NOT correct.)
a) IIT Madras & .00 QLRNR) @2@%&;@’@%5 (Developed by a wing of IIT
Madras)
b) & TREFE PoeT® Y TORRWT® eﬁ%gﬁﬁdww% > OC3NENBROTH
@ws@zgmxmmgd (It is being developed targeting both smart phone and
computer versions)
) YT 1O VB ) LIT® Beerts G[Jewon® AT e (It's a free

and open-source operating system)



d) Android 3 i0S edF YTOOWNCRT, TR ReYIL JEDITeNT.

)

(Attempt to reduce dependency on Android and iOS.)

9) 33 IPNT OI0= B3 W mgrie;abel ko nYQoBR :"éé”&ﬁmﬁ:%d (Which of
the following valuable materials are also being created in Labs?)

a) 3%, d%ﬂ% (Diamond, Gems)

b) S%, womed (Diamond, Gold)

¢) J%, TYeiFo (Diamond, Platinum)

d) ¥%, T30, Womed, Snw (Diamond, Platinum, Gold, Gems)

10) The Wagner Group 2.0, (The Wagner Group is a/an)
a) YONL ToFe3R (Terrorist organization)
b) negEcds Toeds (Espionage organization)
¢) 33N OO FoIHJ (Private Military Company)
d) ﬂw%w 228 (Security Agency)

11) STBYS D0 SO3RCNNT BOTE IPNT IewINTY olm Ievdosn

BocseNY (Which of the following statements about Administrative Reform

Commissions is NOT correct?)

a) 1966 SO TWEINRT RTIT IRTY STRYS DWHRCH SN
OGP FTINITTH SBpoews wemol (Morarji Desai was the Chairman of India’s

first Administrative Reforms Commission formed in 1966.)



b) 2005 T TIVTRT LTIT ATTERCOL SRS WTTF W3RN
@qﬁ&gmﬁzgdcb NeTT, ZR0YR (Veerappa Moily was the Chairman of India’s

second Administrative Reforms Commission set up in 2005.)

¢) 2010 T TINCINT FTFITE SATORCON SRS T SO3RNT
@zs&gmngsm TeONTY, CesbARew (Haranahalli Ramaswamy was the
Chairman of Karnataka’s first Administrative Reforms Commission formed

in 2010.)

d) 2021 Y TUWROINT TFRFTE QTBRCOD BREYS WHCHD S8RNT
@%ﬁmﬂ&ﬁd& 83.00. QTWO® m%cs (The Chairman of the Second
Administrative Reforms Commission of Karnataka formed in 2021 is T.M.

Vijay Bhaskar)

12) RFEBE QUOBNYD DI WRYNT B S0NT BRCRODY C3RT BRCROZD
Boas®NY (Which of the pairs of Karnataka Departments and their websites is
INCORRECT?

a) TOTROD YURAS — AN (Revenue Department — Bhoomi)

b) Rrcomtd Iy wTRET Vwesd - PO (Stamp and Registration
Department — Kaveri)

¢) @&Gm@%&; THTY TOWRART® YRl — JoTog, (Rural Development and
Panchayat Department — Panchatantra)

d) sHE =HJy "om 3 Qened — STt (Department of Kannada and Culture

— Karunadu)



13) 0020 RRNY FCOQLOR :)‘o:"é (CIIL) o3 #com 5630 2OW? (Where is the
headquarters of Central Institute of Indian Languages (CIIL)?)

a) Chennai

b) Mysore

¢) Hyderabad

d) Bengaluru

14) s85e SRR 83 F0HR0E WIEH. (Lymphatic filariasis, commonly known
as elephantiasis comes from this reason)

a) BRYNY THDE (Mosquito bites)

b) Seenry 0% (Bites of flies)

¢) BBy HRT FYT zé:za?débﬂ (Rusty iron piercing)

d) STozzeoomeRs (Heredity)

15) vdeess :iraz%oafﬁe:: ) PTET m@ﬁd &rac@oﬁ:&bol DBSRNT. VRNTY O35
BeeRO%n ZOoNY. (Latest indices and position of India pair are given. Which
of these pairs is INCORRECT?)

a) World Happiness Report 2024: 126

b) Global Innovation Index 2024: 55

¢) Global Hunger Index 2023: 111

d) Human Development Index 2023-24: 134

16) $903TY O T /TR %ﬁfé}o& BOTTW B FPNT O TeYIOIW
Boc3eNY. (Which of the following statements about system of

lending/borrowing Loans in India is NOT correct?



a) REF BRT° IMWRW MOTIOR MTFC FRLF TEIoTY, BRWHS
ﬁoa%ommi’ (A credit score is a number that indicates a consumer’s
creditworthiness to lenders)

b) m®§ RN TTTNT=OR R z'i.r%cc@ TOFRTD WeHRRY. (The credit
score is not affected for the guarantor of the loan.)

€) FowIT MONY, T MWOND =T R TROENTT, LYRROTOS B 00T
2T BREF Ry T BTN DTFLATHT Q0T FRLF Xg ot TFIOWMST.
(It reflects how well one has managed credit in the past, including personal
loans, home loans, and credit cards.)

d) ERRTOBRICNTT AN, DFJCOONTT, ST W CRIF- T TR
POTITY TORFATF LI ITHT TF0ed RS mﬁd@cﬁ%ﬂd. (TransUnion
CIBIL, Experian, Equifax, and CRIF High Mark are major Credit Bureaus

working in India)

17) 7330 30 tRUSRY WRSROLYT ¥ Moy ST O Fwectiond, (The
highest value currency note in circulation in post-independence India was,)
a) 20,000 Rs
b) 10,000 Rs
¢) 5,000 Rs
d) 2,000 Rs

18) 3¢NT oo Bewdosn TOCNY (Which of the following statements is NOT
correct)
a) 2022 XG0T DFWFEH TRAFT AWRINS (Single-use plastic banned
from July 2022)



b) 100 ﬁoé@a‘ﬁ@ﬁos FRTHOWNTLT TRAT /W0 %ﬁc‘ﬂ@?m@l QFepRTRNT
(Plastic/PVC banners less than 100 microns are also prohibited)

€) FREWT TFRETT wTRr, FOTRAYY DF-WFECH TRAF WRY IReHINY
(Single-use plastic not banned in Karnataka govt health facilities)

d) 120 ﬁ%ﬁéﬁ‘ﬁos TRD TI[IDT TRAF aseomfmq WRTO 2023 dow
QTN (Plastic bags with thickness less than 120 microns is banned

from January 2023)

19) ST=Rew OOIRFTRY (T wWOW TR, (The function of heavy water in a
nuclear reactor is to,)
a) 6%&335971%” ﬁcﬁwm‘i QARSRAPDRT (Slow down the speed of neutrons)
b) SRt nY Sen=wy, éag:b@cﬁ: (Increase the speed of neutrons)
¢) Oo3RET® @554 SoTNZ)T (Cool down the reactor)
d) FTTRew OOIRTRY, dYRIYT (Stop the nuclear reaction)

20) PRWODH BT WIILT FITF LOINTD) IR VeDRYNY. VTE T W
PR wERrEBoowen, (An artificial satellite orbiting around Earth does not

fall down. This is so because the attraction of Earth,)

a) PO éagﬁ BRTTY m@o&oﬂm@ﬁmh&@@g. (Does not exist at such
distance.)

b) @OTR TR FBOROT 3&3%@?\@". (It is neutralised by the attraction of the
moon.)

¢) ©TT P(%d BORR wngn Senmsy, wenWS3. (Provides the necessary

speed for its steady motion.)



d) ®T3 BosR N SNTPEEIRY, WweNWIT. (Provides the necessary

acceleration for its motion.)

21) QonoPeowr =y Jon® Hedn, FIodh WRLHLE MISMWATORY 33 TN
CIRRYT /T, WEBWTOT? (In addition to fingerprint scanning, which of the

following can be used in the biometric identification of a person?)
(i) =0=* %5307‘5 (Iris scanning)

(ii) de3Te® @asé)on@ (Retinal scanning)

(iii) D MTLIWRF (Voice recognition)

BINT BRCT WEL BOSRT LOITRRY, BodTRR. (Select the correct answer using
the code given below.)

a) Only (i)

b) (ii) and (iii)

¢) (i) and (iii)

d) All of these

22) 33 PN OSwT :)"o:"éoirao@ﬁﬁ wwocssabq WTWTOTLY RTT XTTFTsy) ITTNE
PPRPCOT BRoTRY (Rrcomed =3y Sgrd) sookd, 1999 W= e0Re9= (India
enacted the Geographical Indications of Goods (Registration and Protection)
Act, 1999 in order to comply with the obligation to)

a) ILO

b) IMF

¢) UNCTAD



d) WTO

23) 3INT OIRT TWF) 2WEACID TRATEDT H°ST TR TRSFYE, BeD
AITRONTY T _e)om%s TRTTRY, NTOxIW? (Which one of the following
terms describes not only the physical space occupied by an organism but also
its functional role in the community of organisms?)

a) dnectines® (Ecotone)

b) QzwREef el (Ecological niche)

c) @mﬁm@ﬁ (Habitat)

d) et Seoes® (Home range)

24) 30 TRFNY LO0T LTITW TRFIOSTRY WIY mma'gsmﬁzg TEOTTHN
BIUT AFNYY OTTATTN FORWTHT. <ac$§ 5009, (Vultures which used to be
very common in Indian countryside some years ago are rarely seen nowadays.

This is attributed to)

a) BRT SFTFOFTO TRTNVOT WRYNY NAWFLHT Focony Teeorddd (the
destruction of their nesting sites by new invasive species)

b) 2RI TROFT T SRINLLRT DHTWINAR 2333 B WD
Bxend (a drug used by cattle owners for treating their diseased cattle)
¢) WYNOR =TT 3RTE (scarcity of food available to them)

d) ORYNYY TR/TF, ATOIT =y TeOF0T F0N3 ézagrb%d (a widespread,

persistent and fatal dis- ease among them)



25) Re0Reddn® F[W/LTWET® SNTHT $CWTIFTIR, BT BeR 20TRTRN,
$TT AOTYORYT “wHes Be - YO - TR — NN’ B ST ITIPNY,
3CE3TOITT @%@E’ o[BI B3 FPNT CIRRFTTQ xogamggd? (A pesticide,
which is a chlorinated hydro- carbon, is sprayed on a food crop. The food
chain is: Food crop - Rat - Snake - Hawk. In this food chain, the highest
concentration of the pesticide would accumulate in which one of the following?)

a) T B3¢ (Food crop)

b) ¥ (Rat)

¢) To%) (Snake)

d) Azdn (Hawk)

26) BRNOHY 5:% QEOT Twerets 3@y, (The fresh water percentage of
Earth is)

a) 1%

b) 2.5%

c) 5%

d) 10%

27) TOXTRY TTHRTF WAV éaaa QTHR)®, (The largest reservoir of
nitrogen gas in the environment is)

a) m® (Air)

b) BRNCH BRTITZT (Earth’s crust)

¢) ZonT (Ocean)

d) Fned <3 wwedned (Plants and animals)



28) 33 ITNT OSwT FNFOS %ﬁﬂ?ﬁ’ e:smﬁm@dﬂ%@ 20T LROT TWONNRD
FoRWHZH? (In which of the following States is lion-tailed macaque found in

its natural habitat?)

1. 3T (Tamil Nadu)

2. %c0¢ (Kerala)

3. 3SerwT (Karnataka)

4. sog I3 (Andhra Pradesh)

3R BT BRTRYRY, WHREROW BOOIRT WBTHRY, wodmRR: (Select the
correct answer using the codes given below:)

a) 1, 2 and 3 only

b) 2 only

¢) 1, 3 and 4 only

d) 1, 2, 3 and 4

29) RTSTY B3 FIINT OIS INFT xOTES TRe3TY ﬁ@@?coﬁ WRTL
WTRRTFE, ToNHIw Ty wEHer OMTNSIPRY? (In which one among
the following categories of protected areas in India are local people not allowed
to collect and use the biomass?)

a) uoi:ac%goﬁac‘ O0xFs (Biosphere Reserve)

b) m%@oﬁo erocmﬁﬁe;s (National Parks)

¢) TOTERT® TYZT® WRODY FeeuToen Py TFeansd (Wetlands declared

under Ramsar Convention)

d) 5%23653 @25037&62%?1% (Wildlife Sanctuaries)



30) ILNTINTY CIVR)TH 8=, BoTTROD in-situ JgRSTNY? (Which one of the
following is not a site for an in-situ method of conservation of flora?)

a) woi:acaoﬁacs 0x=°s (Biosphere Reserve)

b) 2eRVTST MEES® (Botanical Garden)

¢) Uae?é)coda emw%sr{e:: (National Park)

d) ST wosneornsd (Wildlife Sanctuary)

31) 39N SRS TSESNTRY, VORI T ﬁcd%a%d T TEENATY w0WOTD
Toned8eents? (Which of the following mountains are considered as one of the
top biodiversity hot spots?)

a) ﬁ%d) Fend (Western Ghats)

b) TR= Fenw (Eastern Ghats)

¢) %TP0o® (Himalayas)

d) @oewe 3eed (Aravallis)

32) CITES & Seeer Sedm®y, wdokd: (Write full form of CITES:)

) YPATOUTITLT TPIWNT WOSTTYLOD W%mdd BOTW WT5=eS
=
(Convention on International Trade on Endangered Species)
b) WOITOUTITLT TICTNT WOSTEYEOD gmﬂm%md B0 WT5eS
=
(Convention on International Tourism for Endangered Species)
€) PO TIeTNE WOoTTTERYLOH IRITRTET B0TE TweEed (Convention on
@ =
International Trade on Endemic Species)
d) TSRy WoITTOYOD YT B0TT Be5e8e3 (Convention on
=

International Trade of Species)



33) Ex-Situ Zoggmmn godec-tRossg 31 YNT Ol @ROTRY, MERT TN
WYBRn8R? (Which of the following gas is commonly used in Cryo-Bank for
ex-situ conservation?)

a) Nitrogen (TTETT)

b) Oxygen (&:%%&T)

¢) Carbon dioxide (s s o)

d) Methane (oe5es®)

34) 'O &F° FITE' SR U@Z.})CSQ&? ('Valley of Flowers’ is situated in)
a) 3c0¢ (Kerala)
b) “me DB ﬁéécd (Jammu & Kashmir)
¢) ¥v3oesdor (Uttarakhand)
d) &dw T@e3d (Himachal Pradesh)

35) wUSE F1y, T whey ol o £e0wk? (To which group does the black
cotton soil of India belong to?)

a) er%&sd’éw (Laterite)

b) Fndgee® (Podzol)

¢) B8Rceds® (Chernozem)

d) 3o (Alluvial)

36) Twoww @3503 BEOL FHE oYw»? (Which is the oldest religion of the
world?)

a) $900%° o (Christianity)

b) &ome e (Hinduism)



¢) BT PN (Jainism)
d) @mo F=ne (Islam)

37) ILNTINLY CIRRYTEY, T/FWF TOTY Q0TH Tonedxeenogd? (Which of the
following is considered as Primary group?)

a) 30tpow (Family)

b) =RE ©eRFT oI (Peer Group)

¢) S8ZRT (Neighbourhood)

d) ZzR=Rex (Crowd)

38) LTS [HE N0W JBWRY) AW (The term ‘Bharat Varsha;’ stands for)
a) HPOERST T2 (Fundamental unity)
b) &3 %&3;;33 (Unity and diversity)
¢) PRRees T2 (Geographical unity)
d) mozy 7 HF2 (Cultural unity)

39) ‘WomsR ARG WA’ wROR wolwy (The ‘Dowry Prohibition Act’ came
into force in)

a) 1960

b) 1961

c) 1962

d) 1963



40) De IF, MBIy, Toe 0k mamgw THTNHEER TS (The type of
marriage in which a girl selects her husband by herself is)

a) ©IWT LTI (Asura Vivaha)

b) nog=s Q== (Gandharva Vivaha)

¢) g% O® (Rakshasa Vivaha)

d) 3’3%2&‘ Qe (Paisacha Vivaha)

41) 33 3TN OSRF Bee® BOCINY (Which of the following pairs is not

correctly matched?)

a) g&éﬂ T3%% (The Brahma Samaj) - Tot Toey® Swcxs® oo (Raja Ram
Mohan Roy)

b) wods =TS (The Arya Samaj) - @Rk mOlRSom ¥OZS (Swami
Dayanand Saraswathi)

c) o %§ WX® (The Rama Krishna Mission) - 3¢ Uasﬁa%ﬁ TTHTOR
(Sri Ramakrishna Paramahamsa)

d) s@eSe IS0 (The Prarthana Samaj) - 2Re3e S (Jyotiba Phule)

42) 1953-19558 &ombem SInenY @odeens SegZ ©[%awHES (The Backward
Classes Commission of 1953-1955 was headed by)

a) UN. gc2o® (U.N. Dhebar)

b) Seewse B¢ (Renuka Ray)

c) T %?ESCG%UG‘ (Kaka Kalelkar)

d) d.&. Wore*® (B. P. Mandal)



43) FRFEFRY T SwIONY Mo, (The size of small holdings in Karnataka is)

0

a) 1 - 2 B3
b) 2 - 4 2o
¢) 4 - 10 2go*
d) 1 3¢

44) @30@6 T ToZT AR N FORTONTY, SRE TRETY WoNeFORweoE (In
which year was Mysore Tenancy Act passed after independence?)

a) 1949

b) 1952

c) 1954

d) 1961

45) THFWT PO WHTHD IWMTR F0NT -2020 T vSeNRRO(N, B3 ITNT
ée@éﬁﬁ?’m& Joneda (With reference to Karnataka Land reforms amendment

Act -2020, Consider the following statements)

1. z':e’)e?.a PRL DOR FHFY 00eRTTT FedT aw?owwq SR TBOR)T, WOST
%& PR mmo&a‘z{ %& Wcé’bwagh w50, W¥EReR; (Removal of restriction on
purchasing agriculture land and purchaser of agricultural land shall use such

land for agricultural purpose only;

2. O-[NEFT JCTITO maoosaabgl %c?d WC‘S’Dw%‘*ﬁ T, WRTHI TWRTIR); (A-class

irrigated Land shall be sold only for Agriculture purpose)

Which of the above statements is/are correct?

a) 1 only



b) 2 only
¢) Both 1 and 2
d) Neither 1 nor 2

46) THFWT FTFOR) TTFRIT HToRE FRITRBOD HRVT OIRE SRFFY
PRILITE FONTBR SWTIR RS (In which year did the Government of
Karnataka Amend the Land Reforms Act in Through a Public Interest
Declaration?)

a) 1973

b) 1995

c) 2015

d) 2020

47) TIFLF DTVOF ST EENT CINT TRWI0NTY, TRovew 2 LI W
WPBET (Which of the following information can be acquired by using the

Dishaank Karnataka App?)

a) s30OeEC BFTH/Nd (The name of the owner/owners)

b) HRWOH PN - FFTED mdw%cs, S3N WBSTT, e.-ac’s%, %8#&5, TOTOCN,
RREERY PRI, TN, @ZQ. (The type of land - government-owned,
private-owned, forest, lake bed, rajakaluve, gomal land, roads, etc.)

€) THYNW, HWWTY DT WENY INY [T (RTC) (Detail of Records of
Rights, Tenancy and Crops (RTC))

d) 3O QYR (All of the Above)



48) BRFUBREY ¥ B m3 IWIoHT, CINT FRFREQ FewTSow? (In Which

year was B D Jatti committee appointed in Karnataka?)

a) 1952
b) 1957
¢) 1960
d) 1961

49) TIRFLITE TINRTD SRTEO JIRCTIWNYR 83 FTNTYINTY AIRJTH LOTITTFE?
(Which of the followings are examples for the socialist models struggles in

Karnataka?)

a) 195189 STZ RAE senE (Kagodu Satyagraha held in 1951).
b) 1973809 SBE DoRAT xZN© (Sandur Satyagraha held in 1973).
¢) a 33 b ¥OoRNS (a and b are correct)

d) a =3 b 87N (a and b are wrong)

50) 3 ZoBHFRY, gm_pwéom BONTIRT .00 RNTY Q0T DWALO BRCEFF
DREF TN WRTEBTE. (In which case, the Supreme Court specifically opined
that Preamble is ‘not’ a part of the Constitution?)

a) TR0 OBRACRT TgSe (Berubari Union case)

b) 3e3TTT TS TFTee (Kesavanada Bharati case)

¢) (a) 3 (b) TER (Both a & b)

d) edT SRRYTR @ (None of the above)



51) 3LNTTTY OeTH ToFJINT WTSHBADLY PoN=SLBRFHAY? (Who among the
=

following do not take part in the elections of the President?)
a) BOBIT WwowE TWHT> (Elected members of the Parliament)

b) e~ NPT TPNT WDTOWS 583?%63 (Elected members of the

State legislative assemblies)

¢) To% RS WORIT weokd I (Elected members of the state

legislative councils)

d) 3cOTRREEST THReINT ToTTON THENY DTOWT xR (Elected members of

the legislative assemblies of the UTs)

52) 83 IPNT CIRRYT TONGRIT Soﬂ@oﬁﬂd? (Which of the following is a

constitutional Body?)

a) TOQODH e odeen (National Commission for Women
=

b) CE%COSJ @%ﬁo&r%éd sodsen (National Commission for Minorities)

€) TOQEODH WOTHOT SIneny cleen (National Commission for Backward
=

classes)

d) eOF SRR ®Q (None of the above)

53) 85 IENTJINTY CRRYT TFer s ooz [TETH TOTOR ;geae’)é o3eNY? (Which

of the following is not revenue Receipts of Karnataka state government?)

a) 3oR 2eg an (Tax Receipts)



b) %c0T TTFTROT Wbwes (Grants from central Government)
¢) 3c0T, TRFCROT TEE Toonw (Borrowings from central government)

d) 3onicdhesT e (Non-tax Revenue)

54) FRFERY stmm’m& m@&ﬁ@o WONDT QTR BRRJTTOR 1 ILNTINTY
OIRRT WOTWe TOTFE FeommeN®? (Which of the following is a single contact
point for all investors who are looking at setting up enterprises/business in

Karnataka?)

a) ToertdE LBRR 0 (Karnataka Udyog Mitra)

b) FTreE IeRE ww3enT HoBP (Karnataka Investment Promotion Board)
¢) &gegdoi% SRTRT TwT $cogw, (Visvesvaraya Trade Promotion Centre)

d) %m@éﬁ@b DY mséz:s aensd (Department of Industries and Commerce)

55) goeruss 5%5: Py TRBTY FoBWILT B IENT BT sopdcss Red Lists
WYUTOUTYTLT (Endangered) B¢3 IPene mooxn Be0W? (Which of the
following animals found in the Western Ghats region of Karnataka belongs to

the Red List of Endangered species?)

1. DS N T2 (Malenadu gidda cow)
2. A0/ WROT Aon9F (Lion-tailed macaque)
3. WRFoCT ed (Mackerel fish)

4. WIEeoD» Tog, T (Dattatreya night frog)

) >

6:303%71%;?3 (Options):



a) Only 2

b) Only 2and 3

¢) Only 2 and 4
d) All of the above

56) 30380 RedmedIR BowoRWOZ BOCHT éc@@ﬁ@é’m& moTodd. (Identify the

correct statements regarding Kudremukha mining)

1. 33 Redmedd TR ©QOR TowolT. (This mining was related to iron ore)
2. 33 niedreOdan TopTRy OTY BYoO I TonIeerndB. (The wastage of this
mining were stored in Lakhya Dam)

3. BWITATY FRHRT WL RO ST TTR ﬁsém@@o&:abol gnsmwmma.
(Due to depletion of iron ore at Kudaremukha, mining was stopped)

4. Bordmnsd nedneddod IHe3Ry) PR, FROH 3CTYH. (Kudaremukha mining

area is located on the banks of river Bhadra.)

6:303%71%;"3 (Options):
a) Only 1 and 2
b) Only 1, 2 and 3
¢) Only 1,3 and 4
d) Only 1,2 and 4

57) BTRFETE TOXT W¥RTYR BOWORATWOZ IPNT OSnT Iewd TTNT. (Which of
the following statement is wrong regarding Environmental movement in
Karnataka)

a) VQBR WDIY 198309 «v3T saglzs BEonY @ToFTeow. (Appiko

movement started in 1983 in Uttara Kannada district)



b) Semom SO mcﬁsﬁ FTEOTRE BOTT m@%uc@ FOTIOR é)cﬁoz:;p
TSNS THTY TOTT enmY TOZTT Ieeoow SWoN:>. (There was an
environmental movement in Davangere and Harihara area against the
Harihara polyfiber company which caused the pollution of the Vedavati
river.)

) BQBR WRLTYOR é‘e%gdaﬂa TROTTON BRWORTTE FeBRHORTITL.
(Panduranga Hegde took the leadership of Appiko movement)

d) Pluck and Plant BERT9R BOWORAT SCRFTY W0 BREFF ‘P TWRe3T
Hheed féﬁ?oﬁa WIOR [T TWE, ST TTRY, 23 LRoW'. (In the Pluck and Plant
movement judgment, the Supreme Court upheld the ‘inherent right of

indigenous people to land’.)

58) & BueTE Q02T )

a) A0 AT B 30EI (Software of MS Office)

(e—office is a

b) Online 032 Zeww 202903 (Free online service software)

¢) THFTT FIO TR AnFIH 303903 (Government office file management
software)

d) Software T¢3cd FEE AT 202903 (Software Office file management

software)

59) R FHTE SowWETT VI e:swég (Latest version of Nudi Kannada
software)

a) 6.0

b) 6.3

c) 64

d) 6.5



60) 3cT Snce Snerm (DBT) @o0wd (Direct Benefit Transfer (DBT) Means)
a) ReomeN SN JedR)w (Direct cash disbursement)
b) m%wé?ﬁ@gd Teow wWneewH (Money transfer without intermediaries)
¢) 80° Seodn o =T W05 aR3R W mmerw= (Money transfer to
bank account with Aadhaar)

d) 3eOF QIR (All of the above)

61) 0T JecLrer om VRS TowoRE. (Khajane Portal belongs to
which department.)
a) Jwecomed By ToweF ¥wesd (Department of Stamps & Registration)
b) mesoerReR ) Qa3 (RDPR)
¢) Jeowxe Yool (Finance department)

d) SozTeow Yeead (Muzrai department)

62) Foeo®h FOZNYA TOWORATOZ Ty TRRT FWSNTRY WROTFOTN LecRA.
(Sequentially align our state committees related to local organizations.)
1. 3.@05382 WAZ, BWwé (Kondajji Basappa Committee)
2. 30T Bw3 (Venkatappa Committee)
3. za’ogs"csodoﬁs T0S (Chandrasekharaya Committee)
603%71% (Options):
a) 1-2-3
b) 3-2-1
c) 2-1-3
d) 2-3-1



63) B3 IINT OTRT ST® TY TF) FTTeredT T OSRRTE TRTH TOWWOBSO®
RN, TodeICBTY, TR ? (In which of the following app we can get

comprehensive information of any Gram Panchayat in Karnataka state?)
a) Kaveri
b) Bhoomi
¢) Panchatantra 2.0

d) All of the above

64) TTTT TOPNOR TOWORATWOI FPYNT O3 IJewdnwd BOc3NE? (Which of

the following statements are correct regarding cooperative societies?)

1. 973¢ ZoNGes SHTR FOOWTORH THRVT BITT BoFnen soammsg m‘?sma:
FOERBOINE. (Co-operative Societies have been given constitutional status

through the 97th Constitution Amendment Act)

2. BORHNT 9C Ny IDTT BOFNRON TowoRT. (Part 9C of the Constitution

deals with co-operative societies)

3. 30028 ZORFONT 243 ZH 0T 243ZT &SNS QQNnd ZTO ZoFneon
TowoRA. (Articles 243 ZH to 243 ZT of the Constitution of India deal with

Co-operative Societies)

wodynsb (Options)
a) Only 1 and 3
b) Only 2 and 3
¢) Only 1 and 2



d) All of the above

65) IPNTINTY IV FTFEIT TOWRONT® Toes® &g&w‘%voﬁad Motto ¢NT3
(Which of the following is the Motto of Karnataka Panchayat Raj University?)

a) Panchayats with Root Level
b) Rural Roots Global Heights
¢) Local bodies with Global Height

d) Democracy with Panchayats

66) 3YNT SBoednvy, Foned2 B R w302, (Considering the following
statements and answer the question.)
1. A3 B OS50 %00 W3y QoNeT-9=Y ©BeepeC. (A and B teach
Hindi and English.)
2. C =) B o= woNex® Tene mmwwmd BRI, (C and B
teach English and Geography.)
3. D=3 A TS ned2 one S0RORY, BRIy (D and A teach
Maths and Hindi)
4. E 32, B OFDH @358 Tone Fouy, BecmmE (E and B teach

History and French)

T3 (Question): ©3 TP QWOINTRY, WeeRWTZTL cinch? (Who teaches the
highest number of subjects?)
a) A

b) B



¢) C
d) D

67) 32 3YNT wo3nemy =ontda: (Consider the following:)
1. A + B®owd A o3 BT =31 (A + B means A is the son of B)
2. A - B ©owd A c3» BT Jowe. (A — B means A is the wife of B)

Somsd P+R-Q 0T, BRI, (What does the expression P+R-Q means?)
a) Q is the son of P (Q, P & =%R)
b) Q is the wife of P (Q, P = B0@3)
¢) Q is the father of P (Q, P & 30%)
d) None of the above (5¢OFT SRJIYH Q)

68) MOURYA SI0@ @F0NFsy Y @003t Sone M €03ag WTHTOZ 2w, OT
oe3on® RpeRTWIT? / How many ways can the letters of the MOURYA
word combine 'Y ’at the beginning and ‘M’ at the end?

a) 16

b) 20

c) 21

d) 24



69) 3N JeYIND B[O JToned YY) IRT SeERENF) BO @O?..):CS&D‘=z T3
(Consider the following Statements are true and find the which conclusion is/

are follows)
TeeIned (Statements):
1. R Bweesdnsd Tbwdnch (All boats are boys.)

2. R TN QeInd (All boys are lamps.)
STRran® (Conclusions):

A. o demngd dwecednisanss (All lamps are boats.)

B. o decdnw Qemnwensd (All boats are lamps.)

a) 33O A 3T5eT IO (Only A is follows)

b) éc=®© B 35S O (Only B is follows)

¢) A 38 B oT@E» 3O (A and B is follows)

d) A 8 B oo@» 10c3eng (If neither A nor B follows)

70) 0w Wewn® 50 %ﬂ 25%% < 10 %ﬂoﬁo e 2:3:50 ODTBTOR.
VRYTT Wi, [ Te. 90 SNTIT, [INFY 25 FFod TeANE "o Ty? (A bag
contains 50 paise, 25 paise and 10 paise coins in the ratio 2:3:5. The total
amount of all these is Rs. If 90, how many of these 25 paise coins are there?)

a) 80

b) 120

c) 100

d) 135



71. PNTZTY O35RT TBRD JBROOHY RNGPNY? (Who among the
following was not involved in the Kakori Conspiracy?)

a) Mi3eow, W (Sachindra Bakshi)
b) nQTSE Wweek® (Khudiram Bose)
¢) ©ZFR s (Ashfaqullah Khan)

d) So2deow ©o&0 (Rajendra Lahiri)

72. C3RT SYIONTY, VAP TRIWIVT WILAFOIRN Q0T FTCHTRONTY?

(Whose reign was called the Golden Age of Mughal Architecture?)
a) @gce (Akbar)

b) &eonec® (Jahangir)

¢) XTWTOS® (Shahjahan)

d) TR0 (Humayun)

73. SRJF ms;%w BRET ssss:;;osag TBRESTET AOW wws@&
GeDTSIMIT ©owd (In the financial system of the Mughal

Empire, the term ’polaj’ is referred to)
a) TOTRO®R IN® TowS (Revenue Cash Payment)

b) TXEFT TR RN (Annual cultivated land)



c) @gce TOLWOWRAT wOTH O30 Sord, (A type of coinage introduced

by Akbar)

d) Jeo® T TOWWAT 2w0TH Dede® TeY (A type of coin introduced

by Sher Shah)

74. a;s PR ANowWT woz§§ TOWORRIWOZ B3 BTN O3 TeLINLD
Boas®NY? (Which of the following statements regarding the

Digambara sect of Jainism is not correct?)

a) Qnowd 55%2;71% u%nmq FODHRNY NFOTWT W T IW/NY
TCON WTOOWS WY WORTORT, TYIWIT 0T WITH TOWITIS.
(Digambara monks do not wear clothes because they believe that it

increases dependence and desire for material things.)

b) THTLITL HTY TH&LBTL BRITR meﬁwsﬁ TTRODWTTH Q0T L9TTH
05T (They believed that both men and women could attain

salvation)

€) SHTT WRTLITINORE LVOTT 0T &ETY oS (They

believe that Mahavira remained unmarried)

d) DIRTT TTR) W RO ARCWST TowInY 2 St wZos
TR WoNSBoRNT (The suttapada text is in Prakrit language and is

the 2nd oldest record of Digambara beliefs)



75. Thow 2T BWORY @%C# THTRTT BeRF HoBRAWSTY (The
demand for separate electorate was presented in the round table

meeting)

1. sorpe-voRHT (Anglo-Indians)
2. mdécoﬁjdgd: (Indian Christians)
3. S02HT (Muslims)

4. & 52363 (Untouchables)

T
BINT senYY oo WocsN? (Which of the following options is

correct?)

a) 3 32 4 (3 and 4)

b) 1,2, &= 3 (1,2, and 3)
¢) 1,3 == 4 (1,3 and 4)

d) 2eOT QYT (All of the above)

76. 83 ENT CINTY "FYC" FOZ W QO g-.;’;oc;pmﬂmad? (Who

among the following is famous as ’Alwar Saint Woman’?)
a) $Sowe¥* (Andal)
b) Scbeee® (Perumal)

¢) WewR (Madhavi)



d) SyBects (Maitreyi)

77. TSRV AOW mzsoﬁs w%éoﬁ) PTST OIRT TWeBRY Tp3dSR?
(In which region of India was the system of justice called Dayabhaga

prevalent?)

a). V2T T2 (North India)
b). w%m 02 (West India)
). [e=F T3 (East India)

d). @30 (202 (South India)

78. SRTS F0RHT. (Nayi Muslims.)

a) BTO TFWET FSCRROT FHONRACY LEPROHTT> (Mongols who settled

near Delhi)

b) BIROR THZWOIT BROVT LoRRNYL (Hindus who converted to

Islam)
¢) Y o=ty (Khilji kings)

d) o Tty (Slave Kings)

79. 8 3 o] %mc% ﬁe%gwg ToOH S BT
THONRRCLT TP cﬁ:acé FOBTRN, VT HPVFT sosg TOT



TREHR0NSS. (The Mongol attack on Delhi led by Timur in

was a major disaster and proved to be a thorn in the

Tughlaq dynasty.)
a) 1357
b) 1375
c) 1398

d) 1451

80. ERNVT OT ST RS ? (The official language of Mughal

era?)

a) e (Urdu)

b) 303 (Arabic)
c) J2FonT® (Persian)

d) 833K (Turkish language)

81. T3 NP wRo®H PO O3RewS O3T W¥OSRAH d21? (Whose

brainchild was the Balkan plan of partition of India?)
a) W s 238 ® (W, Churchill)

b) Qo.x. 8@ (ML.A. Jinnah)



C) CRTFE TFOoLF wRt3n® (Lord Mountbatten)
d) FHoe® w3 (Clement Attlee)

82. &3 IPNT o= BecRO3e TOOSRN momtéé’omﬂg? (Which of the

following pairs is not correctly matched?)

a) LEnedee & wotd((Niccold di Conti) | w3 (ltaly)

b) &%e3® (Niketin) Ozm, - (Russia)

c) BF et (lban Batut) “rovER - (Morocco)
d) ¥1po* TE(Abdul Razak) A003% - (Syria)

83. ROTFRCNOID BT m@z:s oSy (Which kingdom was ruled

by Chand Bibi)

a) Q. Wexo® (Bidar)

b) WoTf(Birar)

c) @&y‘:fﬁ?’id (Ahmednagar)

d) ReedRom (Golgonda)

84. 3,3.16990Q Boonziens SmNY WEnemoes LEoRTT Wmth YN

omcssa& moﬁ:m@oﬁm‘iﬂ TR%IT? (Who among the following was



sent by Chikkadevaraja Wodeyar as ambassador to Aurangzeb’s

court in 1699 AD?)

a) a. 50cd% Qonegesy (Karanika Lingannaiah)

b) 50wR0 FomTemesy (Karachuri Nanjarajaya)

¢) TONEY, ToITewedy (Karugahalli Hamparajaiah)

d) 39S dcdcmsos% (Kalale Devarajaiah)

85. TURY RBe@TY’ FTFITE O3 BB BeOWSTy? (Halagali Bedru’

belongs to which district of Karnataka?)
Q) wenodnctd (Bagalkot)

V) WERIT (Bijapur)

2) B¥¥m (Belgaum)

Q) <ymec (Mysore)

86. 8053.@@&&%5‘ oﬁa@zﬁ% ToWoRATW? (What is isohaline related to?)
a) =nd (Ocean)
b) ¥vsRo3 (Temperature)

c) =02 (Fog)



d) ©=E03 (Salinity)

87. LERTH) BRODFNOT LT NT/IOT WTF BRTITZTR DIATT
TR TWPNTW 0. (Although Venus is much farther from

the Sun than Mercury, the temperature of Venus is higher.)

a) BT ARIY TPTHCHRY. $TY WF NRTY FERE T[T

(Venus has no atmosphere. But Mercury has a dense atmosphere)

b) 2T ATTY T[T TTVTTNT SWS WG NTTY TPIVZTEINY

(Venus has dense atmosphere but Mercury has no atmosphere)

¢) BT NBRY VOMOT & SEE TRFTNDHOT Bt TN,

(Venus has a dense atmosphere rich in carbon dioxide)

d) T ATTY SRWITFR) 533)%@{\6:5025 Ty TeemTreNT (Venus has

a dense atmosphere rich in oxygen)

88. SR{)T{@)G&@ RN OTOT TR 9 FOTRWTHZR? (Where are

mangrove plants found in greatest abundance?)
a) &¢C TIe3n (Coastal areas).
b) FHTHERL TEe3N (Desert areas)

€). YVPTRPT T 80N (Tidal influenced rivers)



d) TTFST YYERTN (mountain slopes)

89. ©woZToReod WetF ST oSRT WNRSTY T TReNE? (In which
=

ocean does the International Date Line pass?)
a) 33T TnT (Arctic Ocean)

b) wotxotdz® NT (Atlantic Ocean)

¢) &one WTemNnT (Indian Ocean)

d) $2a5 nd (Pacific Ocean)

90. 33 IFFOW TWEeo LRTTT SRT VR IF, LWITTRCIeONR BOCIN
RRoTRHTOIRMFHAY? (Which of the following rivers in South India
does not match well with its tributary?)

a) THTINR - 2030eeZH° (Mahanadi - Seonath)

b) Reeme=0 - S (Godavari - Varna)

c) %@a - =50 (Krishna - Bhima)

d) 530 - BIBerwS (Kaveri — Suvarnavati)

91.83 ITNT CINVRPTT TR TT°® 3RYosw IS38? ( The Gulf of Pak

lies between which of the following?)



a) m:; SF TeF D, NS°, 8P Dogew® (Gulf of Kutch and Gulf of

Khambhat)

b) NP, &F° I W We ©F® Womee® (Gulf of Mannar and Bay

of Bengal)

) OTOET T TR Qemne (Lakshadweep and Maldives

Islands)

d) ©Om=RR® DY ddeRTT QeI (Andaman and Nicobar Islands)

92. TG RRCET SERH) éwg DT 20T (The highest peak in

the Southern Hemisphere)

a) ©ToTME (Aconcagua)

b) 5ooeF 3OTRoIBR (Mount Kilimanjaro)
c) SHBPowF @.@%oﬁn;ﬁ.@* (Mount Kosciusko)

d) PoeF =BT, (Mount Everest)

93. =] -1 o9 %é”q ToohnvRy, T -2 TYN BGndeodn WPned

TOREWT DT OSRT A [WORTR WTOHRTIRC OTIFTOMOEITTON TRODA.
(Match the agricultural zones in List-1 with the districts in List-2
according to which Agricultural Zone of Karnataka State they fall

under.)



©. FRBICT TOOH -1. TVIT, BDIBERTL, TWOF,, HBRTL, WDLTEENRT

(a. Beach zone -1. Hassan, Tumkur, Mandya, Mysore,
Chamarajanagar) . é%%&‘g B, [OOL - 2. YUST 5‘391:3, (140 sqlz:s,

T

(b. North East Dry Zone - 2. Uttara Kannada, Dakshina Kannada,

Udupi)
Q. YVTT TOTTFT FTOOH - 3. WEMOR, TR, To=ed, NN

(c. Northern Transitional Zone - 3. Belgaum, Dharwad, Haveri,

Gadag)

83. T30 WF, TO® - 4. rb%ﬁ?, To0RIRTY, O3RWNO

(d. Southern Dry Zone - 4. Gulbarga, Raichur, Yadgiri)
a) A-4 B-1 C-2 D-3

b) A-1 B-3 C-4D-2

¢) A-2 B-4 C-3D-1

d) A-3 B-4 C-2 D-1

94. 33 IPNT O JeYIN® O YT3/8%? (Which of the following

statements is/are correct?)



1. 383000 WTOTIR BYPHT LIODH TR Feed FRe0csRR0n
W WO BBV TRVOWOT {RUSE ST, wiNAW. (The Himalayan
mountain range extending from Kashmir to Assam provides

protection to India from cold winds blowing from Siberia.)

2. éemsﬁ PNT ITFINRD ATTTRNHR)TOOR TBRFTROT To9ERCTT
z08E wORnOY. (Due to the high mountains in the north-east,

invaders from the east could not enter India.)

3. mo&wds PNTY IZFING mdﬁdg Fe33n BT FTOFFRHERN waqss
NOCTRT TPERLTTY LRTITAYT TOTLL mzeon. (Central Asian
invaders were able to enter India as a result of the presence of

valleys in the middle of the mountains in the north-west.)

33 NS QBOS%K@OZS GSO3p TO LVITHRY, MOTh32. (Select the correct

answer from the following options.)
a) 1 5598 (1 only)

b) 1 52 3 588 (1 and 3 only)

¢) 1 3= 2 508 (1 and 2 only)

d) 1, 2 5= 3 (1, 2 and 3)

95. $RTIRY TIFHTN a’éda% SRTHT BROSNE TWe3? (The first region

in India to receive southwest wind?)



) R (Odisha)
Q) wmeo F:8:3 (Assam Valley)
) TBOWRT® oo (Malabar Coast)

Q) 5° I@e3 (Kutch region)

96. %@10333 TRONFIOT B %&5?5 TRT B QTROTROT WHTH? (Earth

comes farthest from Sun on this date?)
a) July 4

b) January 30

¢) September 22

d) December 22

97. (RTITY @3 T, Al 0N 132e=T (The largest fresh water

lake in India)

a) aécrg (Chilka)

b) TOweF (Pulicat)
c) f (Dal)

d) * (Wooler)



98. 33 FFNT O TLIOPTY, WTHTT w3 Qowd FIeIwTS? (Which of

the following rivers is known as sorrow of Bihar?)
Q) nowd (Gandaki)

Q) TReewS® (Damodar)

2) dred (Kosi)

®) Brex® (Son)

99. 8 IPNT SRR BOIPN TROVTVEIV? (Which of the following is

not correctly Matched?)

a) %w‘ 85@@25&5‘ . INCER® 30T (White Revolution Dr.

Varghese Kurian)

b) RRLVR TTVRTT® T twedes® (Golden Revolution Nirpak

Tutej)

) NS’ TTORT - . O, WWTFS® (Green Revolution - MLS.

Swaminathan)

d) 23 STORTR® worer3 Jtdew® (Blue Revolution Durgesha Patel)



100. 33 3SNT OO TNTNYL TJOTT0 FLLTOWOT m@sgegd? (Which

of the following oceans is bounded by the Panama Canal?)

1) B23F TonT DT wRoss® Zend (Pacific Ocean and Atlantic

Ocean)

2) @EROL3T TNT N LOTnR HTTNT (Atlantic Ocean and Indian

Ocean)

3) %oBR HTVTNT DT J3%F Tnd (Indian Ocean and Pacific

Ocean)

4) EROWF WNT D) $IFF TS (Atlantic Ocean and Arctic

Ocean)



